@ 16 ® 17 @ 18 )19

D 15

Alo]Z

12-3=9

FJ HEb=12-2=10

19

La+b=9+10




@ 25 ® 28 @®)36 ® 45

D 19

CER DR R

27

9% (9-3)

Ly==X

36

LXx+y=9+427




3. o 2" x o 2715 F6HH?

@® 110° @)135° 3 140° @ 145° ® 150°

£55° + £60° = £115°
/x = £20° + £115° = /135°




S 137 ° 7o
TR ) CPE R TEE P

@ 50° @55° ® 60° @ 65° ® 70°

213 o] Wi Zhat €] 7ke] gk 180° ©| B &, zx 9 2]Z-2 (180°-
cx ) ol thZba o] ©17+9] k2 360° O] B2, (180° — £x) +
45° +90° 4 40° + 60° = 360° ©] 2L zx = 55° ]},




5. oL a#NA B+ £C+ /D + (E + /F + G 9] 3t&?

@ 400° @)440° ® 540° @ 600° ® 7120°

Q7Y o] W z+e] 3h2 540° o]t}
w2tA A + /B + £C + 2D + (E + /F + /G = 540° 0|22
/B+ /C+ /D + (E + /F + /G = 440° o]t}




@® 68° @ 70° (@)72" @ T14° ® 76°

~&B

AR ZIgo|E g ACDE & o|5H AZgo|ng

= 36° o|t}.

oflt

1
¢(ECD = £/CED = (180 - 108) x 3
whbA] zx = 108° — 36° = 72° ©|t}.




7.

e OHoA AC = ¥ 0 9 A =o]1 /AOB = 60°
=

A ohg B $L AS BE Y

VR N\ R R
@5.optAB = 25.0ptCD @ AB =2CD
(@)AB < 20D @ AB = 200

® AAOB = ACOD

£COD = 30°

~ /'\
@ 5.0ptAB = 25.0ptCD
@ AB = 0OC
® AAOB # ACOD




The T4 AB £ 9] 20|10 5.0ptBC 9] Zo]7} 5.0ptAC ©
Zol] 5 ¥ uf, sx 9] F7]=?

C
Al . B

@ 10° @122 @) @ 16° ® 18°

~—
5.0ptAC : 5.0ptBC = 1: 5 0] 1 3.9] Aol FAZke] F7]¢]
AHlE stE=

/AOC = 180° x % = 30°, ABOC & °|5#473 (OB = OC)

(AOC = 2/x = 30°
. /x =15°




ofel T3 Zol AB & AF2R ste 9 0 “lHmBOC =
/N PR —_

30°, 5.0ptBC = 5cm, AD//OC € W, 5.0ptAD 9] ZAo]& 3}

SR

icm
Al o«
O 30
@ 10cm @ 15 cm ® 18 cm
@®)20cm ® 22 cm

H0eDE JF5= A8 OD & 12H
AD //OC °]|E& /OAD = /BOC = 30°
AAOD = A0 =DO ¢l o] 5HAZgo|n g2
/OAD = /ODA = 30° o|t}.
AAOD °f| A
LAOD = 180° — (30° + 30°) = 120°
N\ N\
whabA 30 : 120 = 5 : 5.0ptAD ©|A] 5.0ptAD = 20(cm) ©]t}.




o %
1 gL 2s)
© T QoA 744 o7t 71 A Agolet
© @ QoA 2 2719 F47e] dig @eldole 2ot
® o QoA HAEZe] 39| Aol FA7] A7
v e bt
® @ QoA HAEZe] Hole F4zte] 2710
ulE g,
® @ Yol BAfzo] @o| Aol FA7ke] 270
v e bt
6,060 6,0 @ 6,0, 0
®o.e 6 0 @ 3,0, 6
6066

~&B

@ B Bo] ohet 218
ole} gy,
® o Yol B}z Ho| 2

orL
1o 1—

o 7




11.

the 1A dol7t B g2 AR o= v ol o] =goflA

B9 A%

VAVAVAN

A @uA ©H @iz

® 14 7|

~&B

A HE0A

2oF-3 7]

BF- 10

L9+3+1=13




12. 249 5471 54 Q) 2Hg el Bae) 4

i

ot

©sA @94 @A @ui G2

~&B

n Zgolet o MY gy

n(n-3) =108 =12x9
non=12 (7))




13. o= 2"elA x & 27]=7

@® 115° @ 110° ® 210° @215° ® 250°

~EB
AZrE 9 Wzhel 2719] -2 180° o|B=
AABC °f|A £A + /ABP + /PBC + /PCB + /ACP = 180°
/80° + £35° + /PBC + /PCB + £30° = 180°
(PBC + /PCB = 180° — 145° = 35° o|t}.
APBC 94 /PBC + /PCB + /BPC = 180°
(PBC + /PCB = 35°
35° + /BPC = 180°
(BPC = 180° — 35° = 145° ©| 2. &
x = 360° — 145° = 215° o|t}.




14. & T za+ b & 712

O 70° @)80° @ 90° @ 100°

® 110°

/AFE = /CFD = 40°

(BEF = /a + 40°

(BCF = /b + 40°

oBCFE of| 4

60° + £b + 40° 4+ 140° + Za + 40° = 360°
ta+ /b = 80°




15. thx ™A za+ tb+ Lo+ Ld + e+ Lf O] F2?

@® 120° @ 240° ® 280° @360° ® 540°

B

L8+ th= Lc+ 1d O|B2
la+ b+ Lo+ Ld+ Le+ Lf
=/la+ b+ L8+ Lth+ Le+ Lf = 360°




